
 

  Page | 1 

Save These Instructions for Future Reference 

 

 

   The Answer is Yes! What’s the Question?™ 

Installation Instructions 

Part Number 1918-3-004-F 

       

 

 

For Your Safety 

Read and understand the entire manual before installing 

 

 

48” POWER STRIP  

 

® 



 

 

Save These Instructions for Future Reference 

 

Dimensional Drawing 
 

 

 

 

Specifications 
Dimensions 48.25” W X 1.86 D X 2” H 

Weight 6 lb. 

Outlets 16 

Power cord length  14” 

Surge protection   1,060 Joules 

Circuit protection  15 amps  

Color Gray  

 

 

Page | 2



 

  

Save These Instructions for Future Reference 

 

Component Identification  
 

What’s Included? 

 

48” Power Strip (1)           Accessory Bar Mount Bracket (2) 
Part Number KH-3500    Part Number KH-2501 

      
10-32 x 2” Pan Head Screw (2)   10-32 x 2.25” Pan Head Screw (2) 
Part Number HW-PHS-005    Part Number HW-PHS-013 

      
        

Power Strip Frame Bracket (2)     3/8-16 x 1.5” Button Head Screw (4)  
Part Number KH-3502     Part Number HW-1017 

        
3/8-16 x 1-5/8” Channel Nut (4) 
Part Number HW-CN-001 

      

 

Tools Needed:  
Phillips screwdriver, standard hex wrench set, level  

      

Page | 3



 

 

Save These Instructions for Future Reference 

 

Installation Instructions  

If mounting to an accessory bar (Figure 1): 

 
Step 1:  
Place the accessory bar mounting brackets onto each end of the accessory bar approximately 
44” on center apart, secure bracket with the provided 10-32 x 2” screws.  
 
Step 2:  
Determine which directing the power cable need to be routed, place the power strip into the 
brackets and install the provided 10-32 x 2.25” screws.  

                     
 
 
 
If mounting direct to 48” workbench uprights (Figure 2): 
 
Step 1:  
Loosely thread both provided button head screws through mounting bracket and into channel nuts. 
Insert channel nuts into upright channel. 

 
Step 2:  
Determine which directing the power cable need to be routed and insert one end of the Power 
Strip into the mounting bracket. 
 

Step 3:  
Install opposite end into clamp, check if mounts are level, fully tighten hardware.  

   
                     
 

Figure 1 

Figure 2 

Page | 4




